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(1) Rectangle (2)
-(3) Rhombus = (4)

MATHEMATICS (SSC)
- PAPER — II

In AABC and ADEF , AB=DE, AC=EF
and BC=DF, Then AABC =

AABC 0805 ADEF o’ AB=DE,
AC=EF 8 BC=DF=0S AABC. =

(1) ADEF (2) ADFE

(3) AFED (4) AEDF

What is the least odd composite number ?
2e3 TN B DoTSwE Doy

3% il 2) 9

3) 5 (4). 3

[f the number 245p6q is er{aﬁ:ﬂy divisible
by 3 and 5, then maximum value of p+q is
245p6q @3 o3 '3 HBAW '5' ©T

Q0P 2rRoDDAS, p+tq B
18a) DS _

“h - 13 (2 14

(3) 15 (4) 16

If diagonals of a quadrilateral arc cqu'll
and perpendicular to each other, the
quadrilateral is a

28 S80S G
SINVATS 350:50&33 -

192"
If 2D=100°, find

1 ABCD, £A+4B =
Bis £C = 150"

D.
ABCD ﬁé;dzgamefﬁ A +2B = 192°,

LB + 2C = 150° SHOA: 2 D=100?
LONS & BHBHROSD ¥
SHOAW 58 Teorew Rvdo_

(1) 178° Q) 360°

(3) 192 (4) 210"

6.

10.

i L1,
sum - of least and greatest angles of .

What is the smallest number by which
3645 must be multiplied to get a perfect
square ?

. 3645 &€ ::Jc;:m T
t 3033 EDR n}LG'EDE

(I -2 (2)

(3) 4 - (4)

Half of 2199 ig
2100 65° B0

{1) 299
(3) 249

(~1)201%, 130

352} S350 {353}2-

—2

there in between

&) N D)
QOPLEN OO ? '

() 354 (2)| 704
(3) 706 (4)| 705
If x ?i? then x + i- .

— Eig .@E:Cu‘)&’) X +'f--§_-=“__
(1) 10 @)| 15
(3) 25 (4)| 45

If the product of GCD-and LCM of two
numbers is 4165 and one of the numbers
is 85. The other number i§ ‘
00 Lo GCD Hdasw LCM ©
OO0 4165, @0 2.8 Sowg 85,
0N BOCHS DODS
1y 72 (2)| 60
(3) 49 4)| 50
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12. Iflog, 256 =2, thenx =
log.. 256=§ OOV X =
(1) 4 S 16
(3] 32 (4) 64

13. I_Iﬂgy—-[r:;gz % y[ﬂgz~ingx % ziﬂgx—lag}r =
(1 2y 8
(3) logx (4) o0

‘14, Y2log625-21log20+1logl6=_
(1) 1 (2) 2
(2} 3 = 4 0

15. The number in units place in (259)* is
(259)® @ DHoWES 2.8 FSoS
TN ®OT
(1,4 | A2 3
W) 9 (4) 7

16. Number of positive divisors of Eléﬁ iE
2160 G308 A 2re3see maﬁg
(1) 20 | (2) 3&
(3) 40 (4 ) 50

17.  Which of the ?!I}Q]zlﬂh’ﬁﬁg triplets is a
Pythagorean, tr@’f&t‘ Vs
Klela ﬁﬂaeﬁ‘ DTSR (BES0 B ?
) @34 @ 61011
(3,) (@34 5) . ) (1,2,3)

18. V225 =15, then the value of
25 %+/0.000225 is equal to:
V225 =15 e@ond 25 x +0.000225
=515 o S
(1) 0375 ) 3.75
(3) 375 (4) 375

Series—B

19;

20.

A car travels at the average speed of
50 km/hr. How much drstance would it
travel in 12 minutes ?

2,8 55 506355 50 km H0°H8 I8Sne
(QDAITPEIONTND.  [oNd &
12 QANANDS  dod  ArSSn
(RAITFEIOLD ?

(1) 12km (2)
(3) 10km (4)

24 km,
25 km .

Pipe A can fill an empty. tankt 1n 6 hours
and pipe B can fill in 8 houts. If both the -
pipes are opened, afféf2 hours pipe A is
closed. How muggﬁfngﬁ will take to fill
the remaining "E@ﬂ{ 2

2.8 oM NDod DY A
5 ﬁa@@é’% 2 B8 B0
%mﬁ’@m - Botd [Dyen 30D
/108080 QoS BB ) A SR
SODBEID. NNOS 87 ers08ussy

“‘*ﬁ %Agﬂ) QONTIE |05 53D

21.

22,

f}@«éﬂ

(1} 3=
1

(2) 25

: |

3y 3 3 hours/ffoéyen

Imurs}ﬁ{}é&ﬁ)&

hours/A0&yen

(4) 2% hours/f0&ex

H-2 =% + then hhe value of x
: 3% :
(g
2=x+- "~ 0D X ewd
(1) 21/17 ) [18/17
113/17

(3) 127 (4)

(2017)*'7 — (2009)*°'7 is divisible by

(2017)%17 (20097 & TID
QB0 27B0N2EHR0E ?

(1) 8 (2) |6

(3) 17 4) 19

46200



MThe population of a village is 20,000. If

24,

26.

46200

the annual death rate 1s 4% and the annual |

birth rate is 8%. then after 2 years
population of the village will be
20,000 272 $O8S 2.8 oSS 0%
N0 B 4% DB TRE 2SS
Ot 8% ™ GOB. 2 N0 T°®
5Q0aT°EH €3 (TP 23aT°2T° o) Oed?

(1) 21,632 (2) 20,808
(3) . 21.016 (4) 22,000

120 soldiers in a fort had enough food for
200 days. After 5 days. 30 soldiers were
transferred to other fort. How long will
the remaining food last ?

(1) 250days  (2) 260 days
(3) 300 days (4) 400 days
2.8 86 120 08 VX% 200
Ferod DD eS80 Eod.

5 Ferer SHaed & F& Hod 30
206 DAKED OO TOODAES,

ASS B0 )
HOFH08?
(1) 250 82¢en (2) 260 8eref §
(3) 300 82ren  (4)

josés 6%. For how mu';,h shuuld he sell
ic towel to gain 4%

> D050 2.8 5O & T 126.90 %
OB, ©BIE 6% Sateddd NI INA.
4% €rS50 U0 &8 IO &

20580 a1 )?
(1) %120.50 2) % 140.40
(3) 13590  (4) ¥300.00

400 ' y

27,

28.

30.

31.

.

Pair of integers 1860 and 155 satisties
Euchid division lemma. | 1860=155 x12+0.
Then HCF 1s

S0tk @ Soen 1860 SHOAZW
155 e ORrSS 2riES DO
SR HEDS 1860 =155x 12+ 0 ©ONS
1 i

(1) 1860
@ 12

(2)
(4)

63 51de: of an cqullatera

o ! the penmetf:r‘ﬂf a Rectangle, whose

=reodd _‘_-_;'-"- ea is 6 cm” and dlagﬂnal is 2+/5 cm

| a,é EHY B ngmgm 6 n::rn2

005D QAW 2v5 cm ®ANS TN
L0EPT e DOEH 7

(1) 8/2cm
8/5 em

2) TV2em
(4) 7V5 em

Find the mean proportional between
a’b+2ab™+b* and 1/b.

a?b+2ab?+b? HOAW| 1/b & eodared
QD5
(1) a+b {Ei} a—b
(3) (atb)(a-b) (4) @
0.125+0.027 N
0.5 X 0.5+0.09-=0.15
G G (2) 08
(3) 0.08 4) 02
Series—B



32.

33.

33.

The diameter of a wheel of a car is 35 cm.
The number of times the wheel rotate in a
journey of 8800 metres is :

(1) 4000 rotations

(2) 4400 rotations

(3) 8000 rotations

(4) 1200 rotations

2,8 5280 LB TBEY T30 35 em.
€90 €8 5% 8800 a0 (DAITEIN
D% & & DE T
(2520677 QOS -

(1) 4000 [eeren

(2) 4400 (2530ETeN

(3) . 8000 [Z50eTEN

(4) 1200 [Be0ea"eN

The diameters of two cireles are in the
ratio 3 - 4. The ratio of their areas 1s :

BO&) ST T DANS 3: 4

LoD € SIT'O IFTETO NS -

4+:3
16:9

3:4
9:16

(1)
(3)

(2)
(4)

i - . - e I:i.:'-' >
The area of &sdaare 1s 256 cm™. Ahek

diagonal 15

208 9GO BB 0N

16v3 em
3) 10vV2cm

for grazing inside a
t m X 50 m and is tethered
A¢eomer by a rope 14 m long. How

‘myeliiarea can it graze ?

oy
Toden 50 SSITTE FosnsS

89500 HE SDONEISH 50 m x 50 m

14 m SHRO (TS 28 o
$3B0H2AIH. oS & HEYD

DO D TN DOH?
(1) 154sqm. = (2) 269 sq.m.
(4) 400 sq.m.

(3) 300 sq.m.

Series—B

37.

39.

A joker's cap is in the form| of right .
circular cone of base radius 7 ¢cm and slant
height 25 em. How much sheet is required
to make such S caps ?
2.8 86 5D 185 050 eFBINS
SO, T 255° s rQed 7 cm a0
HEITEN D 25 cm LOONA ETOES
5 ¢5°aen SAIFS TOWEIZL POk &Y
@030 ?
(1)
(3)

27T.5m"

2) 0273 €
2.75m’ 0

A cube with side 9 cmyfs meltéd and small

cubes of sides 3, cnpgach are fb:1|1m:d. The
Subes tormed are:

D Sp&mT $OAS 28 QoD

Do) DTLN. D)

The dimensions of triangular shaped card-
board are 12 cm, 9 cm, 15 em respectively.
The area of the card-board 1s

2,8 |82herseS @) S0 Soden
JB5 12 cm, 9 cm, 15 cm @OV &3

- @GANE) FFTW AN
¢k 9l cm? 2y 32 cm’
(3) 53 cm’ (4) 54 cm” ,

A rhembus shaped field has green grass
for 18 cows to graze. If eachside of the
rhombus is 30 m and its longer|{diagonal is
48m, then the area of grass for|l cow is:

2,& Tr0R @58 B 55065118 e8edew
DANEZ DY) G DOVVDEIL. &
o & 2,8 2H233m 30 m SHAGI
FHDS B350 48 m, oS a8 &y -

NOW BG VTN 0D 7
(1) 45 m® (2) 48m’
(3) 54m’ 4) 84 m?

46200




40.

41,

42.

46200

A Hemisphere is cut'out from the one face
ot cubical wooden block, such that the
diameter 4 em of the hemisphere is equal
to the edge of the cube. The total surface
area of remaining solid is: |

DEHE TV DeNDSID TBOEY, 2.8
S0 Hod o8 Fesdsw
SONOBDRID. @@ HFan T/
S 4 cm GO, e
GRSV E N VIR ST TV RIS INb N e
A,  WADS IS TBEy
QOJ RSO JFOLA

(1) (64 +47n) em’

(2) (72 +4n) cm®

(3) (96 +4m) cm?

(4) (96— 12m) ent’

A well 14 m inside diameter is dug 12 m
deep. Earth taken out is spread all around
to a width of 14 m to form an'embankment.
Then, the height of embankmentis:

2.8 27D S'HO T:HSN 14 m SHESH
12 m SET $D3 SJDS DB, TN
S0P 14 m TGBew )& D q;
$0%eESSDT O ABSD. 4550

SADES Dess0 DY Joeh 7 -_'
(1) - 1.5m (2} 9 \{%
(3) 25m

oGy

et all is 7 ¢cm, then
volume of ball. are

164 cm-, 196 em’
g,

(2) 154 em’. 1.?9§cm-‘
1 47.
(3) 196cem?, 179 3
| , 1
(4) 154cm’, 1967 cm’
;

43,

44.

45.

46.

\ é NS Bo OF 3ol

If 3%.3Y.32 £7729. the

x,¥,z will be

|

n the average of

3¥.3¥.3?2 =729 , ®©O X¥,Z ©
Siexh e N £L '
() 2 “A2) 3

(3) 4 (4)] 3

Thﬂ va]ue ﬂt ﬂm-t::l:;::{: ﬂHm

() 1 2) X%
(3) 2 (4) 3 .F‘

If y"17"+17 is divided b
remainder is

)@ﬂ then the

yOTH7 & (y+1) BT Sy
320 |

(1)
(3)

16

¥

%Qz}
(4)

17
19

AL Sﬁ) are respectively arcs of two
heemtiic circles of radii 14 em, 7 emand

. aritre O,

If ZAOR = 90°,

find the

of the region covered by these arcs.

D80 CD e

‘0" Bo(&SSrm
NPT T EN.

O’ IPEPDTEN) DOONT 14 cm, 7 cm

SO
TPANOT © 8380
ST ___

B

D

LAOB = 9(}£

OOV , &8
AR [rodd

A

120.5 em?
110.5 ¢m”

2zt is
PCTOIN N IAINAY
24

O C
(1) -1155em? Q)
(3) 125.5em®> (4)|
 Degree of the term El_xg_}
~ x2y3z¢ H0 T
() 9 (2)
() %3 (4)

Series—B



48.

49,

50,

52, €900 es

ABCD is a rectangle. Its diagonals
intersect cach other. If OA = 5x + 1 and
OB = 2x + 4. then the value of *x’ is

ABCD &3 Se8103065 ET0en
Q000 HOGECTNZOT™) OW.
OA=5x+1,0B=2x +4 ®onS 'X

e
A i3

C D
(1) 10 2) 5
(3) 1 (4) 16

The equation whose roots are (3+2v/2)
and (3-2v/2) is

2,8 3G DEB20 TOE), Feren
(3+2v/2) O (3-2v2) @onS & 3¢
HaDEBE0

(1) x2—=6x+1=0
(2) x*=5x+1=0
3) x*+6x—-1=0
4) x2+V3x+1=0 .

JpLespectively: /3
BOCD SO DO &« <
@} ;

4,6 &\

(1) 2.4

43)

x3 — 3x% + 4x + k is exactly
e by (x'— 2), then the value of ‘k’

p(x) =x3—3x% +4x + k ®D DITVHS
(x—2) & &}%;ﬂenﬂ 2>rNOHDARS, K’
S'Je:e:::

Al (2)

—4
(3) 5 (4) =5
Series—B

BiL;

53,

ma 3 BeJH0D.

L Q30 S Ben
V) 28803 Bpen

55.

For what value of k, the system of linear
equations 3x+4y+7=0andkx+3y—-5=0
has no solutions ? -'

k' 08 o) DENSE 3x +|dy + 7 =0
5))@0&131{.1+3y—5403@m

D EGeTed 238580 ﬁrc‘,ﬁ»éen S ?
(1) 3/4 (2) 41'9{ :
(3) 5/4 (4) 9/4

The graph of a pair of At
b1 - N

al
such that e

represented by

(1) Intﬂrseeﬁn g linesy,
(2) Para]lel T
(3) o S G
(4)

3D 58ESere

e
E} EQ'TEJ Qﬂ:” az bz cz

€9 & Q88T By Do

DOCS BN !
-

(4) Sy e

Common  factor of x%2+5x+6
and x* +3x+ 2 is
X% 4+ 5x 4+ 6 00 x2 4+ 3x F— 2

Ny

2IVCNL GG °OeTr080

(1) x+3 (2) x+2

@) x+1 4) x4

Find the perimeter of trie111,1e whose side§”
- are 4x° + y° — 6xy,3y* +12x* + 8xy

and 6x* +8y* + 6xy
2,8 L@eﬁ)eee 308 N Fereden
IO 4x2 4 y2 — — 6xy, 3y? +112x + Bxy
OO 6x% + 8y? + 6xy @mc‘x’) &3
(£320230 e Feooss

(1) @ + 12y% + 8xy

(2) 22x* +12y°% +20xy
(3) 13x%+ 21y* + 20xy
(4) 22x*+19y% +8xy

46200




36. Equation of a line passing through Origin | 60. The discriminant of quadratic equation

is x*+10x—13 =0is
e é}f::ica:)@ Mo D B | . S8  ODES0 %%+ 10k-13 = 0
DEBL0 OB0E) D3
() y=mx+c ) y=0 (1) 100 (2) —-48
@) y=mx @ 42z (3) 48 4) 152
57. Ifthe cost of 3 chairs and 1 tableis 7 900 61. Sum ofthe zeros of cubic pﬂl}a,
and that of 5 chairs and 3 tables is ¥ 21 00, 3% — 647 + 145 + 8 is
then the cost of 3 chairs and 2 tables is 3x0 — 652+ 14x + 8 ;’nc‘é p
3 00w, 1 Band © Jwso o) BRSO JNSO
% 900. &3 SO 5 08300 HOA® () 14

3 LS © Gy Jndo B8 T 2100
©oNS 3 o8 yen 00w 2 Bewd ©
JNBO Je

(I) T 1050 2y 1350
(3) 1500 (4) T 1600

38. If the curve of y = ax? + bx + ¢ meets
the x-axis exactly at one pmnt then the

roots are - "--:_'" '
(1) Real and distinct F‘Df x<0 and y>0, the set of |
(X, y) lies in |

(1) Qi (Quadrant 1)

(3) No real roots . -
(4) Infinite roots m (2) Q2 (Quadrant i‘l}

< 51550 (3) Qs (Quadrant 3)
P =, ¢ - (4) Qa4 (Quadrant 4)

- x-08505% 2.8 2.8 H ‘S f:') 8, |
" é -vt'T J . (;} K":'D é}ﬁm F}U.* (x: }/) éjOE:)JS’Q)E_)
PR Qe GO [DTFW |

(1) Qi (S0l
(2) Q:(rdo2)
(3) Qs (B0 3)
(4) Q4 (>S50 4)

5ﬂ1utmns

(2) Real and equal

64. Which one of the following points lies
inside the region of 2x +y > 3 : ?

BoATIS” B 2x+y = 3 JrDo

S9. " Aline Zx + 3y = 6 cuts the X-axis at
2x+3y=6 & 0 X530

@Gﬁmﬁoéjmcﬁo@ _2. i ST otnon?
(;) (;,2) | (4) (2,01 o pip
I Sl @) (0,0 4) (1,-1)

46200 9 Series-B




65. Median of grouped data. Median

= Z—cf.
(M) =L +( B

for

) 7 R

(I) Frequency of Median class

(2) Cumulative frequency of Medtan
class |

.(3) Cumulative = frequency of class
- preceding the median class

(4) Cumulative frequency of class
succeeding the Median class

30336 S o0 S ;ﬁ}cﬁsﬁémééo
JPSI0 (M) -.r_.r( f )xh 2%).¢%
c.f. @S .

(1) DG5S SSHed eS: Hedgadm.

(2) DAsHS SSKD Q308 0D
;oD S,

(3) N5 SSKBE DO SiKe
QODEs D @égm

(4)  S0B5S SEHBE SKrres SEXD
VOIS T YIS,

66. Number of times an observation eRUTS i
a data is called: | '

(1) Frequency
(3) Median

Mean of first ‘n’ natural numbers is

67.
PRANTA A il HGees QoD 00EKe3eS
e
RORE (2) &2
2 i,
3 = (4) &

Series-B _' . 10

68.

70.

The frequency polygon is one drawn

using:
(1) Mid-point  of

frequencies
2) Upper boundarigs

classes and

of classes and less

than cumulative frequency
(3) Lower boundaries of classes and-

greater than cumulative fre
(4) Limits and frequencies K

NS INT 22302028 RISV
GOAHONID.

(1)

6 &istagram consists of |
) Sectors - (2)  Circles

3) Rectangles (4)

S OMed S8 E}m:}

Iriangles

DTS Do EDR &ocnod.

(1) @a‘sﬂéc‘w_ |

(2) HyTen
(3) B8 SedEren
(4) (Boarew

The mean of marks _SEElflI'Ed by 10 students

in X class is 16.3. On

verification of data

it was found that one of the IX class

student marks 10 were

correct Mean mark of X

D3 SBHBSR 10"
AP0 den  16.
JOFOOBT @0y
DISE By

posted. What is

class ?

08 dEgtdes

3. AoIoN

28 9 &5 S8
10 ATPA)EN -

FOLNGIDESD. OV 10 S SEKS
B8, DTS D S7E), VoS 2

(D))t (2)
(3) 19 (4)

18
163

46200




71,

- 098 ©oEry ?

12,

73

46200

‘The price rate per kg of onions in a week

Who is the “Father of statistics’ ?
(1)
(2)
(3)
(%)

Srinivasa Ramanujan
Sir Ronald A Fisher
Aryabhatta

Euclid

"o ST %*"'Lc‘é' NTDIVD” @

2DTD TS
A8 B . HHE
305236
OSorE&

(1)
(2)
(3)
(4)

are ¥ 5.00, ¥ 4.80, T 5.35, ¥ 4.80, 3.9,

¥ 4.20 and ¥ 4.90. What is the modal price
rate per kg of onions in a'week ?

2.8 508 Kg &DiGe SSex @@"f
QRN &) ON. T5.00, 4.80% 857 |
X 4.80, % 3.9, T 4.20 08 M@D
GOONS e aﬁéc}g& Kg & s>

2°VFE A DO ? o A
() Ts500 g2y --"_,__%3";90
(3) 535 2 4.80

@

If Mea%&nﬂ:Medlan of grouped data are
pe __ 'véﬁ’ 12.5 and 16.5, then find

2.8 ;‘)ﬁﬁaé SFoso ) Sien
D00 DSHSAWED SDIHT 125

DBAW 165 @andS oo
20 VEE ) )OS ?
(1) 245 (2) 80.5
3) 29 (4)_ .25
11

74.

73.

76.

What is the angle between the minute hand
and hours hand of a clock at 4.00 pm ?

A0S0 4.00 Hoerexs) )

HASFE0S AP SHEV SHBAD

foered Sdwenes Sess 8¢ Se90.

(1) 45° (2) 90°
LAY 1008 4)  60°

If 5 tan@ = 12 then the value of
4 sin6+3 cose 't ”.'f}__,?:

5 cos6—2 sinf Is equa f I

sinf+3|gos@" &

§ tang = 12 0N = g 7 )
(1) 60 '

(2) £ oA
(3) 49

(4) fj

The given pie chai‘t shows the marks
secured by Rohit%in ditferent subjects. If
he scored 68.ichemistry, ﬁ‘nd the marks
scoredtin Mathematics. .
Léﬂéﬁ:g ABES 39 Bare. A INW
%@&& IR DA DJF e
@#@% SVEeVASTSVE: SV E AT
BB SRS’ 68 SrSen FoBS

v& P30S’ 0B Jr8yen I3 2

T

. then tan § =

Hindi
Chemistry
5% w30

LOO= ;
Mathematics

1002
Phvsics

(1) 80 100

(3) 120

(Bl
(4) 60

ABC is a right angled triangle and right

b
angle at B. If sin O = Eand cos 6 = -

088 |20 ABC e'Sf’ B 5 ©02)

Seoii0 S0, sin 6= £ 5808

€os B = E@C&)@ tan @ =

(1) 2 2 2.
el h

G) - (4) 5

Series—B




78.

79.

80.

82.

Find the “value of co5230° + sin%60° +
V3ran60°.

cos230° + sin?60° + v3tan60° e
D0 ?

(1) 1 (2)
(3)

Lad
—
o
L
S )
L

A vertical pole is 8 m high. The length of
the shadow is 8y/3 m. What is the angie of
clevation of the sun rays with the pole ?
DEFET DBES 2.8 Qoo I 8 m.
&3 D00 TBE AG - 8v3 m.
S Voo THNS T es
Se9a0065 ?
(1) 307
(3) 60°

45°
[;'] Uﬁ

(2)
(4)

- A circus artist is climbing a 20 m long

rope, which is tightly stretched and tied
from the top of a vertical pole to the,

the pole.
2,8 DR BT, DEFHOTRS dh“
D00 D 2rK0 0B SRS N

635 20 m (@0 o v;

@& SrS 5" £ 2 38 S0 30°
0N &8 QOO0 ?
f %ﬁi{ﬂﬁ 10 m
5my \ ¢ (4 20m
oA W = 3, then sec?6 +
B secd secfﬂ
= 3 OV sec’d +
sec?0
1 S
3) 8 (4),79

V1 + cos6.v1 —cos6 .cotd = ___
(1) cos® (2)
(3) (4)

sin ©

tan O cot 6

Series—B
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33.

84.

H,'Ioj& 260)°

ground and angle made by the rop
the ground level 1s 30°. Find the he@%“

86.

87.

L{}ngest'chﬂrd of circlé: is called
(1) Diameter {2;2) Radius
(3) Sector (4) Segment
598085 33"5@33;1&63635 8O

FHBS e e90er.
(1) 578030 (2) FEIQO
3) DT (d) S DO

In the given figure L,&C B=50

ﬁm‘%f
x"1s

L§r:::~df; QL QGJGESE mﬁa 5%0 @amc‘s
K AeN0 - .

= |.".- - ™
|‘I.'
il
.'l

.,

100°
310°

(2)
{‘|i‘)

Complementary an;:,la of 60° is

60° $’e00 TBNE) @‘*’rﬁ%é 850 -

(1) 50° @) 90°

(3) ] gﬁn { 4} 30{1

Tan 35°

Cot 55 P = =

9

(2) O

3) 2

(4) Not defined/ AP LDoDISSN

An equilateral triangle 18 inscribed in a

circle of radius 6 cm. Then side of triangle
18 |
6 cm SO0 e |28 SeBINS 2.8

Derdn (83202 @0B0D oS-
R0, & (320230 ABNEY B0 Tered

(1) 6V3cm 2) 5v3 em
(3) 6VZcm (h) 5v2 cm

46200
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91.
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The angles of a triangle are in the ratio
2:3 :4. The angles are :

2,8 | B2HBINS'Q ek Ferred A

2: 3:4 00 e |B2Hzs Tered Fercden
SO

(1) 405,
(3) 40%

(2)
(4)

60", 70"
60°, 80°

40°, 507, 80°
20°, 30°,40°

The book “The Elements” is written by

(1) Euchd

(2) Ramachandra Kaprekar
(3) Napier

(4) John Venn

“6 OO Y’ INE Bedowed
(1) SHrEsh

2) THOIE 55D

(3) THoHO

@) SIS

In an obtuse angled triangle, the n
of obtuse angles is @‘ m

2.8 @68 S L@eﬁoaéx%@@é

e’ oW
(1)
(3)

f'f‘ﬁ‘
2 @

The poi t@%ﬁsectmn of altitudes of a
triang ll‘%ca
Nneentre ()

4

¥ ’HI

Excentre

(@ Orthocentre  (4) Clrcumf:&ntre
% (820205 G VS

2ONVPD _ ®0oer.

(1) @038 3080

(2) 2rsrssoldo

(3) @02 Soldo

(4)  D0NHye Zo(do

. N
e
] ¥
L
i

13

02,

-
- -

94,

The areas of two similar triangles are
64 cm” and 49 cm? respectively. The ratio
of their corresponding heights is

Boch 67D (B2ere  JFergen
DD 64 cm? DO 49 cm? 90NN,

&s |Bvered DBYP Qe‘ﬁl‘e_f DRNS
(1) 8:7 ['}) ' :T \
@) T

T (7’)

[n a triangle, the line segm;’;’i* om vertex
to mid-point of nppﬂsp%dﬂ;;s called:

(1) Angle bl@% ffs; ffll
(2) i H‘?ﬁhl-ﬁﬁt or

o BBz 28 B0, Aes
wZBE0 s DoMHY S
B DOGEND __ e0er.

860 5B $DOES B

(2) @02 QNG D0CS DY

(3) sk T

4) &d)ed

In the given figure the vallf of x° is, if

ZAOC =3x°+1° ZCOD=2x° - 19° and

ZBOD = x°

§0E HE50 oG |

ZAOC=3x°+1° LCOD{=2x°-19°

ZBOD = x°@00 X e'.'}e.:m;’a

»{
< -
(1) 30° . 2y B
(3) 33° (4) 40°
- Series—B




95.

97.

(D

A vertical stick 20 m long casts a shadow
10 m long on the ground. At the same
ume a tower casts a shadow 50 m long on
the ground. The height of the tower is

20 m FaYe 2.5 Zow 30 e."f&s“&‘u"
10 m BJFO VB B I150a @E":f
HCHINS 2.8 FHB0 e
TSI B o}égézﬁcﬁ es ﬁ‘n.g}é::}
€ DO ?
100 m

(2)
(4)

?Uﬂm S
(3) 400m
In the given figure

| AD
AABC, DE | BCand DB
It AC=35.6then AE=
BOA 20 €30 DO

[t

ANC =56 asiinad AE =

i —

7.2 cm
4.6 cm

(1)
(3)

“ LR

.
--_1'1

In the given figure [ 5: PO

AB | CD and BC,‘&I: i /CDE = 150°.
Then ZABC is %ﬂ&l@u

180E RO DI O

AB || CDgBC. || ED 0805w
zcng%@ﬁ‘i’ ©owd LABC Dend

~30°
1 50% 5

98.
yu

‘From the gwen figure,

the wvalue of

BOS J&radw 508 y° c?még, ENID
000 |

Fthe larger cir

B&gﬁlaﬂer circle.

with radii 5 cm and
d the length of the
cle which touches

f cm o8 13 cm PR ON DV gL 1D
, Bock D8 Tol SgTen ACHREOD.
N DY) 5T 0BT DY I9€0

O30EY, 2375 PN ST a.
(1) 24em (2) ' 18cm
(3) 8cm (4) 20cm

100. The common point Q
circle is called:

(1) Intersection poin
(2)
(3)
(4)

End point

Centre

Point of contact |

f a tangent and a

t

DITV8 DO Y6, O e

525923 DOKIHSy

DO O
0282 Do
D8 20y
Bo(Ban

(1)
2).
(3)
(4)

Series—B
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